Photons/m/Beam Particle

Power (W/m) for 100 mA Beam Current

w
ol

w

N
Ul

N

=
ol

[ERN

©
o

10/03/02 14.11

synrad_job80 negx
—  Drift —— Dipole Wiggler ——  Other

B | | | . | e
c | | | | | =
0 500 1000 1500 2000 2500

B | | | | | ]
i 1l 5
= i .:t:'z--: i
= = =
- "%E N
- \-. ]
- \‘Q-'-_:' ]
B | | | | | -
0 500 1000 1500 2000 2500



400

300

200

Beta Y (m)

100

synrad_job80 negx

Dipole Wiggler
T

10/03/02 14.11

——  Other

sosnme

O

uuuh“ 1.3

500

1000

1500
S(m)

2500



10/03/02 14.11

synrad_job80 negx

—
(wrl) azis weag [euoziIoH

1T T T 1T T T 1T T T 7 T T ,w 11 T T 11
o]
5
(=]
- QL
Lo
N
m e socmens TORPRMOINR 3RS S SIS
I S
N
H ENEONEEtEtAIttt LIt ELEINENsNTEE3232222222222222004 i r—
T TUUeeeststeSeessssssssnsssssinnnnniiii s
20 L
o
- Q|
L0
i
Tt AL S 2 RN ¥
ol |
o
=3 o
Ia) (=]
oy S
-l
— o
£ ol
e Lo
ol = | EESEENETRY
<
| 1| 7 | 1| 7 | 1| 7 | 1| 7 | 1| 7 | 1| 7 | | e o L | | 7 L1 | 7 L1 | 7 L | | 7 |
o o o o o o o o o o Q ] m_. (@] o
Q o (@] (@] o o o N o o0 O N
M._ w__ (=] [c¢) O < N — —

(wrl) 8zis weag [eonmeA

1500 2000 2500
S(m)

1000

500



10/03/02 14.11

synrad_job80 negx

T T T T T T T T T T T T ,,,,7,,,,7,,,,77,,,77,,,77,,,77,,,77,,,,,,,
)
8
o
| O | _]
L0
AN
o
- AR i e _|
.3 Lo e e o - .3
h o S  hmy
ol l.u.. : - .‘.._.. .
5 % e O » & CIH [ AR
=8 | L i
o
| I T |
L0
—
m ..H.um.m.h.m:.::l q«-~:===
2 w@wm\\&ﬁﬂ o S
oy 1o L |
o I
— f
i
4 o
£ -8+ —
S 5
o
,,,,77,,,77,,,77,,,77,,, I o ,,,,7,,,,7,,,,77,,,77,,,77,,,77,,,77,,,,,,,
L0 AN Lo — Lo o n o o o (@] (@] (@] o o o o
T 00 M~ O [Xo) <t o™ AN — al__

ANEE\>>V AsUaQ Jemod aoeuns

(w/m) Aisue@ Jemod resuin

2500

2000

1500

1000

500



